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Adding with zero digits up to 100 #7

41 +9 =
8+ 12 =
4+1=

1140 =
20 + 80 =
0+ 28 =
50 + 18 =
13470 =
2+0=
9 +0=
38+ 30 =
0473 =
3+ 57 =
65 + 50 =
60 + 53 =
3+ 83 =
8+ 11 =
7+ 93 =
36+1=
59 + 40 =
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80 + 6 =
T440=
5340 =
0+72=
7344 =
1417 =
73430 =
40+ 12 =
63+ 7 =
4+ 58 =
89 + 90 =
7+63 =
7049 =
96 + 40 =
5+ 9=

7643 =
60 + 89 =
82+ 3 =
80 4 44 =
7844 =
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Adding with zero digits up to 100 #7 (Solutions)

41 4+9 =50
8+ 12 =20
44+1=5
11+0=11
20480 =100
0+ 28 =28
50 4 18 = 68
13470 = 83
2+0="72
9+ 0 =99
38 + 30 = 68
O0+73="73
3+ 57 =60
65450 = 115
60 4+ 53 =113
3+ 88 =91
8§+ 11 =19
7+ 93 =100
36+1=37
59 + 40 = 99
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80+ 6 = 86
4+0="74
5340 =953
0+ 72="T72
B+4=T7
14+17=18
73+30=103
40 + 12 = 52
63+7="70
4+ 58 = 62
89490 =179
T+63="170
M0+9=179
96 + 40 = 136
5+9=14
6+3=T79
60 4+ 89 = 149
82+ 3 =85
80444 =124

8 +4 =82



